12/12/23. 9:02 AM Fax

Revised Purchase Order



Sales Tax Exemption

Texas A&M University-Commerce is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases made for the exclusive use of Texas A&M University-Commerce.

The laws of the State of Texas shall govern this Purchase Order.

Member of the Texas A&M University System.

Purchase Order						
Purchase Order Date PO/Reference No. Revision No. Revision Date						
Nov 10, 2023 AB0866019		1	Dec 11, 2023			

Contact instructions for questions regarding this Purchase Order:

If Buyer Contact information is listed below, please contact the Buyer.

If not, please contact the Customer.

Buyer Contact:

Buyer	Buyer Email	Buyer Phone Number
tab - Ball, Travis	travis.ball@tamuc.edu	903.886.5060
Customer Contact:		
Name:	Priscilla Nichols	
Email:	PRISCILLA.NICHOLS@	TAMUC.EDU
Phone:	+1 903-886-5024	

Order acceptance instructions:

Vendor guarantees that the products delivered or the services performed as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by Texas A&M University-Commerce's Purchasing Department prior to shipping.

Supplier Information		Delivery Information		
Supplier Name	PERRY WEATHER CONSULTING INC	Delivery Address		
Address	1355 MOTOR CIRCLE DALLAS, Texas 75207 United States	TAMUS Member:	21-Texas A&M University - Commerce (21)	
Phone	+1 469-546-5082	Attn:	Priscilla Nichols	
FOB / FREIGHT	Destination	Financial Managemnt Group		
Pre-Pay & Add	No	Room BA 199		
Payment Terms	0, Net 30	2600 S Neal St		
Contract Number - Header	Buyboard # 647-21	Commerce, TX 75428 United States		
Contract Number - Line	no value	Delivery Information		
Quote number		Required Delivery Date		
		Ship Via	Best Carrier-Best Way	

Notes to Supplier Shipping Instructions Attachments for supplier Perry Weather Ord... PO Clauses Header 001 No Collect Freight Neither COD nor "Collect" freight or handling charges will be accepted. **Charges Accepted** 508 Any changes to this Contract without the undersigned Purchasing Agent's prior written approval is Changes must be not authorized and at the expense of the Supplier. Approved Prior 509 Cancellation due to This contract is subject to cancellation without penalty, either in whole or in part, if funds are not **Funding** appropriated by the Texas Legislature, or otherwise not made available to the using Agency. 522 Any agreement entered into by Texas A&M University-Commerce shall be governed by the laws of Governance the State of Texas.

12/12/23, 9:02 AM Fax

525	Best Value Clause	Agency invokes "Best Value" purchase exemption under House Bill 1545.
536	Terms & Conditions - TAMU-Commerce	This purchase shall be in accordance with the Texas A&M University-Commerce terms and conditions. To obtain, please go to the following address: https://www.tamuc.edu/vendor-information/?redirect=none

Line No.	Product Description	Catalog No.	Size / Packaging	Unit Price	Quantity	Ext. Price
1 of 9	FY24/Subscription to Perry Weather software (web + mobile)and Outdoor Warning System & Weather Station (OWX)hardware	na	EA	3,000.00 USD	2 EA	6,000.00 USD
2 of 9	FY24/Subscription to Perry Weather software (web + mobile)and	na	EA	2,500.00	7 EA	17,500.00
	Outdoor Warning System (OWS) hardware	I		USD		USD
3 of 9	FY24/Full Service Installation, Per Unit	NA	EA	1,400.00 USD	9 EA	12,600.00 USD
		1				
4 of 9	FY25/Annual Subscription Renewal/Perry Weather	na	EA	23,500.00 USD	1 EA	23,500.00 USD
		· · · · · · · · · · · · · · · · · · ·				
5 of 9	FY26/Annual Subscription Renewal/Perry Weather	na	EA	23,500.00 USD	1 EA	23,500.00 USD
		I				
6 of 9	FY27/Annual Subscription Renewal/Perry Weather	na	EA	23,500.00 USD	1 EA	23,500.00 USD
		I				
7 of 9	FY28/Annual Subscription Renewal/Perry Weather	na	EA	23,500.00 USD	1 EA	23,500.00 USD
		I				
8 of 9	<<<<<<<< </td <td>E ADDED >>></td> <td>>>>>>></td> <td>>>>>></td> <td>>>></td> <td></td>	E ADDED >>>	>>>>>>	>>>>>	>>>	
	CO#1.Rental fee for lift.	na	EA	600.00 USD	1 EA	600.00 USD
		1				
9 of 9	<<<<<<<< <\!	E ADDED >>	>>>>>>	>>>>>	>>>	
	CO#1.Thorguard removal	na	EA	150.00 USD	7 EA	1,050.00 USD
		,				
				Total	131,7	50.00 USD

Billing Information	Billing Address
To assure timely payment please e-mail invoices to the email provided in the bill to address. If the invoice is sent via email, please do not send a duplicate copy through the mail. Only if email is not an option then submit invoices to the billing address indicated in the "Billing Address" section. To inquire about electronic invoicing via cXML, CSV or PO flip through the supplier portal, e-mail vendorhelp@tamu.edu. Invoice must include the PO/Reference number shown above.	Texas A&M University- Commerce ***Do Not Mail Invoices*** Email invoices to invoices@tamuc.edu PO Box 3011 Commerce, TX 75429 United States



ORDER FORM

CUSTOMER	
Customer Name	Texas A&M University Commerce
Customer Address	2200 Campbell Street Commerce, TX 75428
Exempt from Sales Tax?	Yes, we are exempt from sales tax If your entity is exempt from sales tax, please email an exemption certificate to billing@perryweather.com to remove sales tax from your invoices.
Perry Weather Rep	Caroline Shellenberger

PRIMARY CONTACT		
Full Name	Bryan Vaughn	
Title	Chief of Police	
Email Bryan.Vaughn@tamuc.edu		
Phone	903-886-5865	

EMAIL INVOICES TO			
Accounts Payable Email	invoices@tamuc.edu		
Other Email(s)			

ORDER INFORMATION	
Quote #	20231013-160424434
Itemized Pricing	See attached quote
Initial Term: Start Date	11/1/2023
Initial Term: End Date	10/31/2028
Billing Frequency	Annual
Billing Method	Email
Additional Notes	

This Order Form is governed by the terms of Perry Weather Terms & Conditions ("PW Terms") available at https://perryweather.com/legal-terms. The PW Terms are hereby incorporated into this document by reference. Prices listed for products and services on the Quote and/or ordered hereunder may not include any applicable taxes. Subscriptions purchased under this Order Form may be billed in advance according to the Billing Frequency listed above and will renew according to the PW Terms. By signing below, you represent and warrant that you have the full authority to enter into this Order and the PW Terms on behalf of Customer.

Customer: Perry Weatner:		eatner:		
Ву:	Docusigned by: Travis A. Ball TRAPERIORACIONALIST	By:	— Docusigned by: James Skidmore	
Name:	Travis A. Ball	Name:	James Skidmore	
Title:	Chief Procurement Officer	Title:	Chief Operating Officer	



Texas A&M University--Commerce

Texas A&M University--Commerce 2200 Campbell Street Commerce, TX 75428

Reference: 20231013-160424434 Quote created: October 13, 2023 Quote expires: January 2, 2024

Comments from Caroline Shellenberger

Quote amended to include TAMC Farm.

Products & Services

Name	Qty	Unit price	Total
Subscription to Perry Weather software (web + mobile) and Outdoor Warning System & Weather Station (OWX) hardware +Mobile app + computer dashboard login for 10 users/unit +Text alerts for WBGT, wind chill, lightning, etc. +Lightning StrikeDown Timer +Monitor unlimited locations, including GPS tracking +24/7 Meteorologist support line +Widget display current weather status for website/tv displays, etc. +Weather station feeds into the Perry Weather app for real time conditions pulled directly from your location +Camera (Hourly Photo Updates) +Historical Data Reporter + Outdoor Warning System can be set up as an automatic and manual lightning alert system (135db audible siren + high visibility strobe) w/ quiet time settings +Public Address Functionality (text-to-speech) for campus safety and program messages	2	\$3,000.00 / year	\$6,000.00 / year for 5 years
Subscription to Perry Weather software (web + mobile) and Outdoor Warning System (OWS) hardware	7	\$2,500.00 / year	\$17,500.00 / year for 5 years
Full Service Installation, Per Unit	9	\$1,400.00	\$12,600.00
Subtotals			
Annual subtotal			\$23,500.00
One-time subtotal			\$12,600.00
		Total	\$36,100.00

Important Notes: Customer is responsible for providing a lift or bucket truck if needed for hardware installation (if applicable). Quote does not include any applicable taxes. Tax exemption certificates may be emailed to billing@perryweather.com.

Questions? Contact me

Caroline Shellenberger, Account Executive caroline@perryweather.com, +12145377844